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Zo2ZH=E= M 254t
ESINEMNGFI (2L 2E /2oL 228
2318 F=d

% o 4 14
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
2IMI DI E DRI L S 600,000 600,000 0
= 300,000
& 300,000
308 XAHXIEHSOIA 600,000 600,000 0
= 300,000
= 300,000
01 AIXSHMENMNEX= 600,000 600,000 0
O21MI I 2RI = 600,000
= 300,000
=} 300,000
SHCAEH AL 1,950,000 1,950,000 0
g 1,500,000
& 450,000
308 XNXIGHSO0l& 1,950,000 1,950,000 0
oy 1,500,000
& 450,000
01 AIXISHHENEXZ 1,950,000 1,950,000 0
(OZSA L2 CANZTLEMNG(RESD) 1,950,000
g 1,500,000
o= 450,000
2022 OLAI O 23S A AL (2RI X ) 300,000 0 300,000
308 XX SHAHSOIH 300,000 0 300,000
01 HXSHBARES 300,000 0 300,000
[J2022=OLAIOF2 3t = Al AFY 300,000
23|t EA F X 33,339,680 27,222,085 6,117,595
= 408,600
g 22,896,000
o 10,035,080
224240 16,469,000 18,317,000 A 1,848,000
g 15,299,000
o= 1,170,000
403 RXISH S K20l & 16,469,000 18,317,000 A 1,848,000
g 15,299,000
o= 1,170,000
01 XIS A2E X 16,469,000 18,317,000 A 1,848,000
(YU ESZ2ZEANBHE (ZETH]) 1,300,000
Fas 1,100,000
& 200,000
OJlEZ2 2T ML (ZFETH|) 1,854,000
g 1,854,000
JEHZ2Z2EMAEZL(FEZH|) 2,500,000
Ry 2,500,000
YUY NHAAHE (FESTH]) 620,000
= 500,000
= 120,000
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,200,000

490,000

AR 2HBBASS SN s
M 2EIEMYFI (St 2/t 22 e
SERCY SIEIE L (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlnE2
OddCA2SSAUSAE (ZESHI) 1,320,000
s 1,000,000
< 320,000
O3 M2HE (MESCEE) (ZEZHI) 8,875,000
s 8,345,000
< 530,000
SSTANBNBAUAE2S 531,180 410,285 120,895
= 408,600
< 122,580
308 AHAIEHHSOIA 531,180 410,285 120,895
2 408,600
< 122,580
01 HIXNHHNBMNEES 531,180 410,285 120,895
OSSEA2MBAIZAET2SE 531,180
= 408,600
< 122,580
ST AGFE 123,000 123,000 0
308 XXM SO0 A 123,000 123,000 0
01 IXNHHBNEES 123,000 123,000 0
OsftnUtsE22E A 27,000
OZ=2ENEASSEHASXRA 56,400
OZSFNCN2SEEEMEATH 39,600
HAS A E EZ3HH M ALY 793,000 325,000 468,000
s 610,000
< 183,000
308 XXM SOIA 390,000 0 390,000
i 300,000
< 90,000
01 XML EES 390,000 0 390,000
ORE3XH (A3 E)SMMAIE (FSZHI) 390,000
s 300,000
< 90,000
403 MHXSHHSA=0l& 403,000 325,000 78,000
s 310,000
< 93,000
01 X ESHMA=2E L 403,000 325,000 78,000
ORS3X(AL3E)2MHAE (FEZHI) 403,000
s 310,000
< 93,000
SEUSAHE X ,690,000 201,000 1,489,000
as ,200,000
< 490,000
403 MtXISHH S =0l & ,690,000 201,000 1,489,000
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A= 2s2ABHS2 SN 23
HM: 2| EANAFR (23U 2L /23 2T
o 230 EA (cho &)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Eﬁ HR=2
01 XIS A2 X 512,000 98,000 414,000
(&S HAZLEXN(RETH]) 512,000
Fag 512,000
MESFIHMEHIAE XA 6,398,000 4,857,000 1,541,000
Fag 5,275,000
& 1,123,000
403 XX SHHS K2 0| & 6,398,000 4,857,000 1,541,000
g 5,275,000
& 1,123,000
01 MXHHEE = 6,398,000 4,857,000 1,541,000
OMERSIMEHESE (ZEZHI) 6,398,000
Fag 5,275,000
= 1,123,000
KNAAHBUCTASAS (2R EH X H) 850,000 850,000 0
403 XX SHHMS K201 A 850,000 850,000 0]
01 XS AS2E X 850,000 850,000 0
OXNYGAHEACTASAIY 850,000
202 HE XK (HEASY) 1,174,000 0 1,174,000
403 XX SHHS K20 & 1,174,000 0 1,174,000
01 XIS A2 X 1,174,000 0 1,174,000
OAMNEDs=2H22HE LSS 1,174,000
SoASHX 2 6,657,200 4,775,700 1,881,500
FERHXINEKAX A 1,644,000 1,191,000 453,000
306 2H2 1,644,000 1,191,000 453,000
01 &2 1,644,000 1,191,000 453,000
OESZH=xNEASH 1,644,000
SsBdxe2SY 733,200 615,700 117,500
201 et 9| 6,300 46,300 A 40,000
01 AP 22| d| 6,300 46,300 A 40,000
Ogst=2H| 6,300
O3 oANBROUS 6,300
308 XAHXIGHH SO0l & 726,900 569,400 157,500
01 AIKISHENEXZ 276,900 269,400 7,500
Odleio =82S 2222 AY 24,000
S A M X & 30,000
O AR 29,400
OCXNE26 =Xl & X & 130,000
OH0IMNMECIEEX AL 10,000
OWE=2MAEZISM AR 40,000
SLUIt22I0=2 MYt X & 13,500




A= 22BHS= SA 2ot
Hu: PSI|HAYEN(SSHUBY /2L DT
te: S =4Id (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o gﬁ‘&i HR=2
112 2SUHUSHEAEAE AT Y| 450,000 300,000 150,000
OEASSS2E IS M2 XS AS 120,000
OAEIZ2AECIE2H S HE AN 120,000
OM20s HASEIARE TAILIZI2S2H 40,000
M58 EAASZ0I0E=He AT =3 20,000
O3S0t 2 H 0l & M &KX & 150,000
AAOICIHAEHAHE (HEAIS) 2,750,000 681,000 2,069,000
403 XX SHHS K20 & 2,750,000 681,000 2,069,000
01 MXHAMAEE = 2,750,000 681,000 2,069,000
OF0LSAMOICIHAEAE 1,170,000
OZSAAMDCHAE LA 900,000
O AMOICIHAEAE 680,000
2HXDZ0IHSL (2 EX ) 400,000 425,000 A 25,000
308 XXIGHHSO0l& 400,000 425,000 A 25,000
01 IXHHNIMNEXS 400,000 425,000 A 25,000
O =22I0tHS I A& 400,000
102 2H X)X IAMI(2IEFH X H) 30,000 30,000 0
308 MXISHMSOIA 30,000 30,000 0
11 2 2SNHUSHEAXNE AIS Y| 30,000 30,000 0
D122 =2 X I LA AL 30,000
NAESF2H WL XAL (2R EXH) 400,000 400,000 0
308 XAHXIEHSOIA 400,000 400,000 0
1 2| 2SOHeHE AR 2 EAFS HI 400,000 400,000 0
OXNGES2UE WL XA 400,000
SUXMIUATFAIG (2IREXL) 200,000 100,000 100,000
308 XX EHSO|A 200,000 100,000 100,000
01 AIKSHHEMNEX= 200,000 100,000 100,000
(OSAEHEEAXSALY 200,000
AEHHAXNAIL (ZIIEEH I ) 100,000 100,000 0
308 XAXIGHHM SO0l & 100,000 100,000 0
01 IXHHIMNEXS 100,000 100,000 0
OAEHHAX AL 100,000
AERHRIIASHAHKN A (22 H X ) 400,000 245,000 155,000
308 XX SHAHSOIH 400,000 245,000 155,000
01 AIXSHMENEXZ 400,000 245,000 155,000
OFSTE DG HHAEH KNS ASE 400,000
A IZEWM AL FA 6,589,870 8,018,870 N 1,429,000
AJZEAAILIR 5,689,870 5,018,870 671,000
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> A
A & 0l & AF 2 E A A
A= 2o FHE= PN 2aRAD
M MERJYRMUYMARNEE2 (2L 2Z/25HM)
Sl SRS F CERED
= — — L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
E o= A D 110,955,092 115,258,681 A 4,303,589
= 65,144,413
J| 7,782,333
< 38,028,346
HERARMAMARE =2 (2L 2Z/23H) 110,882,012 115,167,151 A4,285,139
= 65,144,413
J| 7,782,333
< 37,955,266
23 ME+=FHI 74,772,501 78,477,575 A3,705,074
= 52,394,655
J| 1,555,969
= 20,821,877
EME=FHIFA 9,720 9,720 0
201 et 5,400 5,400 0
01 At 22l 5,400 5,400 0
Opt=2Hl 5,400
O} ME+THFTUAREZTALYS 5,400
203 YR =2 4,320 4,320 0
03 AIMFAH S Z=AY| 4,320 4,320 0
D22l g2 4,320
SHNE2SME=(K) 63,518,660 68,489,457 A4,970,797
= 51,494,655
< 12,024,005
403 A X EHHS 20l A 63,518,660 68,489,457 A4,970,797
= 51,494,655
< 12,024,005
01 X HHMA=LE L 63,518,660 68,489,457 A4,970,797
O2MXNE2ME = 63,518,660
= 51,494,655
< 12,024,005
EXNEZSME = 8,000,000 5,275,000 2,725,000
403 MHXSHHSA=0l& 8,000,000 5,275,000 2,725,000
01 HXSHMA2E X 8,000,000 5,275,000 2,725,000
OZXNE23MHE = 8,000,000
ML=+ 100,000 100,000 0
403 MtXISHHE X201 & 100,000 100,000 0
01 XM A=2E X 100,000 100,000 0
L2 M2d=e2= 100,000
SHMHHGLTAASE RS 1,794,121 2,620,398 AB26,277
J| 1,555,969
< 238,152
403 A XIEHHS =0l A 1,794,121 2,620,398 AB26,277




AR 2HBBHSD
MY HES5RA0
ool 2 eS|

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Jl 1,555,969
< 238,152
01 AXISHHA=2E = 1,794,121 2,620,398 NB26,277
O HMHLXAIAS RS 1,794,121
J| 1,555,969
< 238,152
SHAMSBIS A2 HASIHAFH] 1,350,000 1,983,000 A 633,000
= 900,000
< 450,000
403 XIS E X201 & 1,350,000 1,983,000 A 633,000
= 900,000
< 450,000
01 AXSHHMA2E = 1,350,000 1,983,000 A 633,000
O2USEANSSS2HEY LB IS (FUEA) 1,350,000
= 900,000
= 450,000
FHESX A 10,679,297 10,247,123 432,174
= 358,500
Jl 6,098,514
< 4,222,283
2o MESNAFL 23,000 3,000 20,000
201 £B-2dH| 23,000 3,000 20,000
01 At 22l 3,000 3,000 0
Oggt=2tl 3,000
OEIMNESKNIAFTUARES UL S 3,000
03 AH2 S HI 20,000 0 20,000
OS2 MUPNBL=EEEEARAS 20,000
ZEENLgEE=zA 370,000 370,000 0
201 24l 370,000 370,000 0
01 At 2t 2l 370,000 370,000 0
O get==2H| 370,000
OZ=ERsresEE 370,000
ZStMXIZ 0l & =sHlXI& 39,000 39,000 0
308 MtXIEHMSOIH 39,000 39,000 0
01 HXNHHBHELS 39,000 39,000 0
D23t M X 20l &sH X2 39,000
2R EsHM el K& 58,500 58,500 0
= 58,500
308 AXIEH SOl A 58,500 58,500 0
= 58,500
01 HIXNHHNBMNEES 58,500 58,500 0
O=SHae2el 58,500




AR S22 2N 23Kt
B HESUASMUNHNSERL (2HLRZ/25T)
e S MESAE (2 &HH)
- — — L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
| = 58,500
S HETHAIE S X 22 X & 821,397 1,027,395 A 205,998
J| 727,820
== 93,577
308 NXIEHSOIA 821,397 1,027,395 A 205,998
Dl 727,820
= 93,577
01 AIXSHMEAMNEX= 821,397 1,027,395 A 205,998
23 H L XAl A S S X 22| 821,397
J| 727,820
& 93,577
ST IoTAIAE = 237,000 343,650 A 106,650
J| 210,000
& 27,000
403 XX SHHS K20 & 237,000 0 237,000
J| 210,000
= 27,000
01 XIS A=Z2E X 237,000 0 237,000
CO23HHETH IoTAIAE 2= 237,000
J| 210,000
= 27,000
TANE2I MM HLXAIAE RS 165,000 165,000 0]
403 XX EHHS K20 A 165,000 165,000 0
01 AXESHEE X 165,000 165,000 0
OSXNE23HM UGS X AAE RS 165,000
St A KX L E= 3,437,556 3,517,968 N80,412
J| 2,644,272
== 793,284
308 NXIEHSOIA 3,437,556 3,517,968 N80,412
D] 2,644,272
= 793,284
01 AIXSHMEMNEX= 3,437,556 3,517,968 N80,412
[O23tHetM A H| el & Bl X 3,437,556
J| 2,644 272
= 793,284
== AL 5,032,844 4,227,610 805,234
J| 2,516,422
= 2,516,422
307 giztol A 5,032,844 4,227,610 805,234
J| 2,516,422
& 2,516,422
02 QIZ2IA AAIE E X 5,032,844 4,227,610 805,234
O3 M=s A 5,032,844
J| 2,516,422
o= 2,516,422




A2 2SRBAS2 SN2k
HE: MERHRMMANNREH (SHLUBB/25)
??: 2AMESXH (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
S MAA 2 ESXNIA(EXE) 105,000 105,000 0
308 AHAIEHHSOIA 105,000 105,000 0
01 HXNHHBHELS 105,000 105,000 0
OEXNE2MES 2l X 105,000
St LA X 2 E 3| OH F 390,000 390,000 0
= 300,000
< 90,000
308 XXM SO0 A 390,000 390,000 0
= 300,000
= 90,000
01 IXNHHBNEES 390,000 390,000 0
O=2stHa gLl s ol 390,000
= 300,000
< 90,000
AN22S TR E S} 8,845,000 9,881,929 A 1,036,929
= 1,500,000
= 7,345,000
AMNEERIITATL(HEAY) 3,875,000 6,209,429 A2,334,429
403 MHXISHE X201 E 3,875,000 6,209,429 A 2,334,429
01 XM A=2EE 3,875,000 6,209,429 A2,334,429
OBFAMBeEAXH 3,875,000
2RI (HEAY) 2,600,000 3,672,500 A 1,072,500
403 A X EHHS 20l A 2,600,000 3,672,500 A 1,072,500
01 X SHHX2E= 2,600,000 3,672,500 A 1,072,500
O3MAGKRAMAIZAE 2,600,000
QS AHAAANZS SR 2 HE 2,250,000 0 2,250,000
= 1,500,000
< 750,000
403 XA SA=0l& 2,250,000 0 2,250,000
= 1,500,000
< 750,000
01 HXSHMA2E X 2,250,000 0 2,250,000
OotsdE2AAAN2I SR 2HAE 2,250,000
= 1,500,000
= 750,000
NI H S AE ALS] 2 O = X & 120,000 0 120,000
308 XXM SO A 120,000 0 120,000
01 IXNHHBMNEES 120,000 0 120,000
LJMIAH S ALE Al S 2] O = KT & 120,000
LE2ESHNEAY 1,307,000 1,907,957 A 600,957
= 1,150,000
< 157,000




M ox
40 5 4

Zo2ZH=E= 2M 23R
HERSRMUYMARNEEZ (2L 2Z/2HH)
DNEBEISENSAMY

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

DEOI0KEIAS (FHEZUINZA 2N M) 1,242,000 1,842,957 A 600,957
= 1,100,000
< 142,000

403 UHXISHHSA=0l& 1,242,000 1,842,957 A 600,957
= 1,100,000
< 142,000

01 HXESHMA=LE L 1,242,000 1,842,957 A 600,957
ODEO0I0IXI&INALS 1,242,000
= 1,100,000
< 142,000

DEFUEBSTH ALY 65,000 65,000 0
= 50,000
< 15,000

308 XXM SO A 65,000 65,000 0
= 50,000
< 15,000

01 AXHHILEES 65,000 65,000 0
O esXE A 65,000
= 50,000
< 15,000

EHESIA 4,786,399 4,853,200 266,801
= 2,958,038
J| 110,000
< 1,718,361

ZFE3ot&e 230,000 230,000 0

307 21201 A 100,000 100,000 0

02 UAFAAFEX 100,000 100,000 0
OZEF3I2NBANL S &S HE 100,000

308 AHAIEHHSOIA 130,000 130,000 0

1132 SoHUHeSBHEAEALS I 130,000 130,000 0
OSHEHMN= X2 50,000
OSJtMelsA S A2t 80,000

MM 5HTH ALY 764,150 746,750 17,400
= 527,000
< 237,150

308 XtXIEHH SOl A 764,150 746,750 17,400
= 527,000
= 237,150

01 HXNHHBHELS 764,150 746,750 17,400
[T M2 51 TH AL 764,150
= 527,000
< 237,150

SN2 HESALS 1,046,900 958,450 88,450
= 722,000




o2 HE= fMd 1 23R4t
HNESSRMAMAB B =2 (2L 2Z /23 M)
SIS ool E )
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
== 324,900
308 XXM SO A 1,046,900 958,450 88,450
= 722,000
< 324,900
01 IXNHHBNEES 1,046,900 958,450 88,450
OSSN 2SHES ALY 1,046,900
= 722,000
< 324,900
Mot E= O H 645,250 504,600 140,650
= 445,000
< 200,250
308 XXl &M S0 & 645,250 504,600 140,650
2 445,000
< 200,250
01 AXHHBIYEES 645,250 504,600 140,650
JEZ 3 OF & A 645,250
= 445,000
= 200,250
HSAMAZSTHE S ALY 126,150 152,250 226,100
= 87,000
< 39,150
308 AAIEHHSOIA 126,150 152,250 226,100
= 87,000
< 39,150
01 AXSHBLELS 126,150 152,250 A 26,100
ONSLUAZSIHES ALY 126,150
= 87,000
< 39,150
N EZstReNS 143,000 145,600 A2,600
J| 110,000
< 33,000
308 XXM SOl A 143,000 145,600 A2,600
J| 110,000
= 33,000
01 IXNHHBMNEES 143,000 145,600 A 2,600
DAY EeRM4US 143,000
J| 110,000
< 33,000
= 3 eHLY Bt E | 755,149 816,800 261,651
= 463,038
= 292,111
403 MHXISHE X201 H 755,149 816,800 261,651
= 463,038
< 292,111
01 X SHHX2E = 755,149 816,800 261,651
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A= 2o FHE= PN 2aRAD
M MERJYRMUYMARNEE2 (2L 2Z/25HM)
S MASMEZELES (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 2284 20,000 0 20,000
ONHSRMeEI S22 45 g AL
=0 20,000
308 AHXIEHHSOIA 144,000 68,000 76,000
01 HXNHHNBMNEELS 24,000 18,000 6,000
OLSotS =M A O CH&OH = X2 24,000
113 2SO00HetE & X 2 E AL I 120,000 50,000 70,000
OKUAZDAMAINERLES ALY 50,000
OBEAOIH0IERS 70,000
HASAEES 22 ALY (St 2 A ALOHS) 4,232,254 3,747,790 484,464
= 3,750,100
< 482,154
403 MtXISHH S0l & 4,232,254 3,747,790 484,464
= 3,750,100
< 482,154
01 X SN2 L= 4,232,254 3,747,790 484,464
ONASASECI AL (S22 L AOE) 4,232,254
= 3,750,100
< 482,154
HAIRAEZ2 AL (A2 2UEIA) 173,800 477,950 A 304,150
= 154,000
< 19,800
403 A X EHHS =0l A 173,800 477,950 A 304,150
= 154,000
= 19,800
01 X EHHMA=LE L 173,800 477,950 A 304,150
ONASRMEEZ AL (H2 L UESAL) 173,800
= 154,000
< 19,800
NS a S E2CIAL (AHAL, SH2 O MRS R) 700,730 1,125,750 A 425,020
= 620,900
< 79,830
403 X SHHSA=0l& 700,730 1,125,750 A 425,020
= 620,900
< 79,830
01 HXSHHMA=E X 700,730 1,125,750 A 425,020
OMASASZE2el ALY (&AL SER 2 A XIS #) 700,730
= 620,900
< 79,830
HAHSAEE2 AIE (SI2 M) 355,861 342,070 13,791
= 315,320
< 40,541
403 XSS AE201 & 355,861 342,070 13,791
= 315,320
< 40,541




A= 2BBAS= FA - ZetR e
M MERJYRMUYMARNEE2 (2L 2Z/25HM)
Sl HARMRELSS (B9 ®R)
= — — L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 355,861 342,070 13,791
ONAKMASEARIML(S2AMRE) 355,861
= 315,320
< 40,541
NAJIERLUEEXA 195,000 195,000 0
= 150,000
< 45,000
308 XXIEHH SOl A 195,000 195,000 0
= 150,000
< 45,000
01 AXHHILEES 195,000 195,000 0
OMADIERMEEXE 195,000
= 150,000
S 45,000
HAIRASTHRI 2l (8= ) 240,000 240,000 0
308 MtXIEHSOIH 240,000 240,000 0
01 HXNHHBHELS 240,000 240,000 0
OMASMSHRX 22 (S22 HE>) 240,000
MAsAEES T2 H 744,250 669,500 74,750
= 572,500
< 171,750
308 X EHSOIA 744,250 669,500 74,750
= 572,500
= 171,750
01 HIXNHHNBNEES 744,250 669,500 74,750
OMddssegZ2 Y 744,250
= 572,500
< 171,750
NASLEEXA 197,600 105,950 91,650
= 152,000
< 45,600
308 XXIEHHSOIA 197,600 105,950 91,650
= 152,000
< 45,600
01 AXHHILEES 197,600 105,950 91,650
OMAs&a4E2X2 197,600
= 152,000
S 45,600
HAHSAEEX 2 (S22 MSA) 104,000 477,672 A 373,672
= 80,000
< 24,000
308 MtXIEHMSOIH 104,000 477,672 AN 373,672
= 80,000
< 24,000




o2 HE= fMd 1 23R4t
HNESSRMAMAB B =2 (2L 2Z /23 M)
DHAKRMUEELE S (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
01 AXSHHBLEES 104,000 477,672 AN373,672
ONAKRUEEXNH (B2 ANME) 104,000
2 80,000
< 24,000
2022MIH S ASEINE K2 (2R F X H) 300,000 150,000 150,000
307 glz2+ol & 300,000 150,000 150,000
02 HAHFHAANGFEX 300,000 150,000 150,000
12022 A1 Al 5= &H = & OH £ XI & 300,000
F S 2tel 1,632,500 927,830 704,670
= 789,000
J| 17,850
< 825,650
SN ZFHIL A 2L =T 8,055 8,055 0
201 Ypre | 8,055 8,055 0
01 At 2teltl 8,055 8,055 0
Ogpt=2Hl 8,055
O MXNEFHIALAZ AL FLUAIRESHIE 8,055
2 HEAMLARS 2 125,000 77,000 48,000
201 2et2 Y| 125,000 77,000 48,000
01 At 22l 125,000 77,000 48,000
Opt=2l 38,000
O MAZI AV ZT RS 38,000
O2g+¢ 87,000
O MAZ2A 2SS L IMHIS 87,000
HE2SHRENAF 2 D5 766,300 0 766,300
= 679,000
< 87,300
308 XX EHSOIA 766,300 0 766,300
= 679,000
< 87,300
01 HIXNHHNBHNEES 766,300 0 766,300
OMMEESFMRENAEEDEFFAIS 766,300
= 679,000
< 87,300
HE2IMEZFHEX ML L 2] 143,000 71,500 71,500
= 110,000
< 33,000
403 MtXISHHE X201 E 143,000 71,500 71,500
= 110,000
< 33,000
01 XM A=2EE 143,000 71,500 71,500
JMHEEZIMEERZEEXOM 143,000
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AR 2HBBASS SN 2ERAD
M MERJYRMUYMARNEE2 (2L 2Z/25HM)
el RE2MAE (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
FEEAMESXE 960,300 598,300 362,000
308 AHAIEHHSOIA 790,300 598,300 192,000
01 HXNHHBHELS 790,300 598,300 192,000
RS2 MIBHAAMK 110,000
ODREE}AMERASKE 454,100
OREEIMERSMAZ 73,200
OS XA =01 30 AtHI X & 11,000
OREESIMEANESEXNZ 100,000
OS2 E2ATHAIIZHAM A XA 42,000
403 XIS E X201 & 170,000 0 170,000
01 RXIEHH b2 2 & 170,000 0 170,000
O3PS MK Ed IS E ALY 170,000
SIS = g o] N 130,500 171,100 A 40,600
= 90,000
< 40,500
308 MtXIEHMSOIH 130,500 171,100 A 40,600
= 90,000
< 40,500
01 HXNHHNBHELS 130,500 171,100 A 40,600
OREEME 22 LAY 130,500
= 90,000
= 40,500
d=nNs2Z23H0 =S AHH X 133,980 133,980 0
= 92,400
< 41,580
308 XX EHHSOIA 133,980 133,980 0
= 92,400
< 41,580
01 IXNHHBNEES 133,980 133,980 0
OFESMEFNIS2A20 = WA X 133,980
= 92,400
< 41,580
JFOFAFZ= AP 2 205,300 325,300 A 120,000
= 17,000
< 188,300
JHOFAtA 2= & 183,200 3,200 180,000
201 Lere | 3,200 3,200 0
01 At 22l 3,200 3,200 0
Ot 3,200
OMNIMSRFEIMREES LS 3,200
308 XXM SO0l A 180,000 0 180,000
01 IXNHHBNEES 180,000 0 180,000
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230,050,733

A27,521,882
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1,172,000
1,172,000
1,172,000

H3r
Wikd
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115,456,723
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20,158,670
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3,870
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M ox
40 5 4

= - — SHE|
SA B E(BH) - NN - BYS 0l &F 24 e Hl D= 2t

OZSsdL A2 HAE 195,000

308 XXM SOIA 60,000 0 60,000

01 IXNSHHBANEES 60,000 0 60,000
DALAZZASHEX 60,000

HY2FZH (2 0HHE D) (IIEH/DIEH) 91,643 95,705 A 4,062

Jl2Z3l 91,643 95,705 A 4,062

JlE2zl 91,643 95,705 A 4,062

201 Let24d] 56,443 49,480 6,963

01 At 22l 56,443 49,480 6,963
Ot 43,003
OMEEELESsEFH 25,003
OEZIMEALREHHI 18,000
[E=3=i:] 13,440
OYgEFAS A 13,440

202 (4l 32,200 43,225 A 11,025

01 = LH YI 32,200 43,225 A 11,025
OgeF=&A 32,200

203 YR =&l 3,000 3,000 0

04 EAN2I LRI 3,000 3,000 0

[120¢1 ol 6t 3,000




N = 0l & At & Ml A

=: 2 H=E= M HEIEDL
M HSSCANTY(SHLBR/HE)
frHEXZ (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
ME&sH 89,295,086 88,240,902 1,054,184
s 17,756,000
J| 29,052,087
< 42,486,999
HEecAdZg (23 2Z/HK) 89,238,046 88,169,812 1,068,234
s 17,756,000
J| 29,052,087
< 42,429,959
=X 23,353,000 22,419,000 934,000
SHs3 XA 16,323,000 15,849,000 474,000
307 21201 A 16,323,000 15,849,000 474,000
02 HAFAAFEX 14,100,000 13,760,000 340,000
OEXSa AL XT3 14,100,000
03 BIAHNHE2IHIELS 2,223,000 2,089,000 134,000
OEM=s3s22H XA 2,223,000
NEAzsZI=2=ENA 7,030,000 6,570,000 460,000
307 glz2tol & 3,830,000 3,420,000 410,000
05 RIZtE = 3,800,000 3,400,000 400,000
OEE2sdIIRsE4NE 3,800,000
12 QIO & = H| 30,000 20,000 10,000
OJAZ=Q0IHNF 30,000
308 XX EHSOIA 3,200,000 3,150,000 50,000
01 HIXNHHBNEES 3,200,000 3,150,000 50,000
ONZE2sSEIERSEXNE 3,200,000
HM=Wa X 4,372,015 1,497,015 2,875,000
KX S A A = CH S K& 2,736,000 496,000 2,240,000
308 XXM SO A 2,736,000 496,000 2,240,000
01 X HHBILEES 2,736,000 496,000 2,240,000
OH60= =2 M & 2SI K& 1,700,000
OZ=2C0MEMSUHSAEXRA 200,000
LI H242 #2001 M = Chal 0=l X & 30,000
OZESHSMEHSUHINE X2 80,000
OZ=AYEUHS=I2UEIONE XS 25,000
OZ=SHEUHEEAUHE XS 25,000
OZSssstEg=s7UHa N2 XS 25,000
Og=AWMAOI2tEHS 0 = X & 30,000
OFTCHAIDICtEM SN = X & 20,000
OIS IAOI0FH= MR XA 30,000
O=gR¥2AIN MU IO = X & 30,000
OZA=ESXAIIBHASUHS R X 30,000




AT RHBBASE SN HSHED
M ST (222 /HS)
el MUK (&)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OZA4S=NAIE=23 U NE X 30,000
Ostgid=a2sA28=s2U 0= X 30,000
OKBSHH M =S & Z I3 W= X & 100,000
OSSN MNE XA 80,000
O&=MA2ctolLHEI = XI& 30,000
OZM4=EEMIA=ZHS N X 20,000
LE=pc L= g0 k=T ES AR 21,000
O3HEEXNESE X 25,000
OXIHIEx+UFJUHNEXA 15,000
OF=HHIHE S EEH 2 HE K& 10,000
O=s&X20I2s=d20tctEHRI MR X2 40,000
OMeteEtid==Sstd=Z U3 HE X 30,000
CHAFTEIRAEIS AU N K& 30,000
ORI AATGMEAUSI 2 XA 20,000
=0t SEHESAZIIUSINE XA 30,000
AHAZEHAEIE(ZNEZNL) 30,000 30,000 0
308 XX EHHSOIA 30,000 30,000 0
01 X HHILEES 30,000 30,000 0
Ol dAZ=HAEIEHE X 30,000
d=A2HSU3 XA 550,000 424,000 126,000
308 AAIEHHSOIA 550,000 424,000 126,000
01 HXNHHNBHELS 550,000 424,000 126,000
O=R2ASHISUHNE XS 550,000
S HHs X & 1,042,000 535,000 507,000
308 XXM SO0 A 1,042,000 535,000 507,000
01 IXNHHBHNEES 1,042,000 535,000 507,000
OZ=2HM0OttEHS = XA 200,000
LI & OtAIOtU20S &4 Z DI & =2 TH3| N = X & 400,000
OFSo0lAS2HOIYEEAMEXA 180,000
O22otE2MEHS = X 90,000
OMATEL ARSI OH 2 XA 122,000
ot=ote| €2 I MOPENE & Hal H = X & 50,000
2 SHSHAMXE 14,015 12,015 2,000
201 2et24d] 3,465 3,465 0
01 AL 22l 3,465 3.465 0
WIS =1 3,465
ONREEUSEIYY 3,465
203 YR =2t 8,550 8,550 0
03 Al =AY R =& 8,550 8,550 0




A2 2HBBUS2 SN ASHED
H: MRS FHE (SLAZ/HK)
@2 MU XA (&2 &)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
OZ2HMUERFA 4,680
OAZENSHAIXN ISR =X 3,870
303 A2 2,000 0 2,000
01 ZA& 2 2,000 0 2,000
O ASAA 2,000
MEtsgsid 7,882,552 6,911,019 971,533
Jl 7,213,710
& 668,842
MEHNRASIXA 150,000 150,000 0
308 X SHMSOIH 150,000 150,000 0
01 HXHNBMNEXTZ 150,000 150,000 0
OMEHsnad2II& 150,000
HEAMEHMEUE XA 92,470 82,470 10,000
Dl 22,470
& 70,000
307 QI2t0| ™ 92,470 82,470 10,000
Jl 22,470
& 70,000
02 DI2tF AAHEE X 92,470 82,470 10,000
O MEX =0l X & 92,470
Dl 22,470
= 70,000
A EH = X & KHEH X 3,719,972 3,668,616 51,356
Jl 3,719,972
308 XX S M SO0l & 3,719,972 3,668,616 51,356
J| 3,719,972
01 AXHXNBIMNEXZ 3,719,972 3,668,616 51,356
et s x| & X & XHOH X 2,060,064
Jl 2,060,064
O S A MEH = X & XHHE X 1,630,266
J| 1,630,266
OSAE M S X < XK X 29,642
Jl 29,642
MEHSANEN=S A 49,524 41,790 7,734
308 AXISHXMSOIH 49,524 41,790 7,734
01 HXHNBIMNEXTZ 49,524 41,790 7,734
OANZMENSAENEI) 252X 47,055
OAZHMHMEYSXN SN 2SS 2,469
MEYWESAN SN DEH KR 104,040 104,040 0
308 XX SHHSOIH 104,040 104,040 0
01 AIXHMBAEXZ 104,040 104,040 0
OANZMEMSA AL SH A 90,360




A= 2o FHE= M4 HEIEDL
M ST (222 /HS)
el dEdsEgsSAE (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OAMNZEMHQLMEH SIS XL SH X 13,680
AXZTAHNOISHAH 2,535,581 1,867,686 667,895
J| 2,246,720
< 288,861
308 XXM SOIA 2,535,581 1,867,686 667,895
J| 2,246,720
< 288,861
01 AXHHILEES 2,535,581 1,867,686 667,895
JAZ=2M0ISHXA 2,535,581
J| 2,246,720
< 288,861
=2UHHASH=S 960,000 990,000 A30,000
J| 960,000
308 XXIEHHSOIA 960,000 990,000 230,000
J| 960,000
01 HXNHHBHELS 960,000 990,000 230,000
O=g2MsEsH23 960,000
J| 960,000
CoMENSsELdeFd 6,417 6,417 0
201 ¢er24] 2,097 2,097 0
01 At 22l 2,097 2,097 0
Oget=2tl 2,097
O UMANSELFFTIMNREERLS 2,097
203 YR =&l 4,320 4,320 0
03 AIMF=AH R =X H| 4,320 4,320 0
OZ2MsISgRFA 4,320
AU ATIIASZ 245,000 0 245,000
J| 245,000
308 XXM SOIA 245,000 0 245,000
J| 245,000
01 HIXNHHBNEES 245,000 0 245,000
OJ4EA(VRAZEZAEZ 245,000
J| 245,000
MEHSACEH2S2E2 N 19,548 0 19,548
J| 19,548
308 XXM SOIA 19,548 0 19,548
J| 19,548
01 AXHHILEES 19,548 0 19,548
OSSN ENEeEsEE =X 19,548
J| 19,548
ZOUHeMsEXA 4,834,679 4,406,246 428,433
J| 751,377




D2 AEHE=R FM o HEH

CHESSCRMEYE (B2 /ME)

DHMHAMES XA

2 RA - ZE-BR(HN) - HEAY - BYS il
< 4,083,302
S MSXR 3,512,000 2,980,000
307 glz2tol & 3,512,000 2,980,000
02 IZHE M AHE X 2,602,000 2,100,000
OSSN S AL XA 2,602,000
03 DIt HE2IHEx 910,000 880,000
OEHMYMs2 29 X & 910,000
XM =CHE XI& 90,300 90,300
307 21201 A 90,300 90,300
04 DIZHHALALSE E X 90,300 90,300
OXI=sOotMESUHa XA 27,300
OME=HMEXMo0tetEU S &ILA A 13,000
O XNMEOHAMSH IR 19,000
OSEHMNASMHSAZ=MEIMNZ X 31,000
SEMLMESUHSMEXNE(BE) 200,000 180,000
J| 19,000
< 181,000
307 21201 A 200,000 180,000
J| 19,000
= 181,000
02 QB AANGFEX 200,000 180,000
OEZOH MU s X & 200,000
Jl| 19,000
< 181,000
S EOHQ M E X = X & Xl X 207,489 204,624
J| 103,744
< 103,745
307 gl2tol & 207,489 204,624
J| 103,744
< 103,745
02 It M AHE L 207,489 204,624
=S Rells 3 = DN IE=DNL: DN 207,489
J| 103,744
< 103,745
Al Z0H 1 A4 2 X = X &= XHHH XI 563,183 722,021
J| 563,183
308 XX EHHSOIA 563,183 722,021
Jl| 563,183
01 IXNHHBNEES 563,183 722,021
CIAIZ 2O Q1 A8 & X = XI & XHBH XI 563,183
J| 563,183
M E22HH XA 113,745 113,745




A= 2o FHE= FMHSIEY
Y HSSCAANY(SHLBH/NS)
el ZHAMSXH (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 113,745 113,745 0
01 HIXNHHBHNEELES 113,745 113,745 0
O Ms22SH X 113,745
AR 2SEIIRSLEAA 72,000 72,000 0
308 XXM SO0l A 72,000 72,000 0
01 IXNHHBNEES 72,000 72,000 0
OAXZOHQBHERHE SRR 72,000
ZOHAUAZEZAX0IEAXA 73,865 41,459 32,406
9] 65,450
< 8,415
308 XtXIEHH SOl A 73,865 41,459 32,406
J| 65,450
< 8,415
01 AXHHILEES 73,865 41,459 32,406
OFMHAAZ=AHNOISHXA 73,865
9] 65,450
< 8,415
ZHAM=HR=A 2,097 2,097 0
201 £B-2d| 2,097 2,097 0
01 At 22l 2,097 2,097 0
Ogst=2tl 2,097
OANRESLESF L 2,097
HEALgNEH=as - 2 48,745,800 52,936,532 24,190,732
s 17,756,000
J| 21,087,000
< 9,902,800
HEUEAELXHA 23,077,000 29,316,000 A 6,239,000
s 17,756,000
< 5,321,000
403 XSS X201 & 23,077,000 29,316,000 26,239,000
s 17,756,000
= 5,321,000
01 XXM 22 = 23,077,000 29,316,000 A6,239,000
gestu=sdilsAA(FEZL) 1,500,000
s 1,000,000
< 500,000
OF0D0ISHENSHEHA— (ZEZHI) 1,550,000
s 1,050,000
< 500,000
OgFANU2sSEHSIIZLE(ZS<H) 600,000
s 300,000
= 300,000
O2Z2E6NExd (@SSl 550,000
s 350,000
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